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1. Answer the following as directed. 1x5=5

a. Define diagonal Matrix.
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b. Evaluate (9 fefa F=1)
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_¢. Define ‘objective function’ associated with linear
programming.
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d. Evaluate (I fef3 =a1)
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e. Ifinterest is compounded yearly, what is the formula for
finding amount?
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A=Amount (f&¥e1), r=rate (753 T¥), P=Principal (F7%),
n=No. of year (I=9)

5. Answer any five questions.
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2x5=10
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a. Divide Rs. 670 among A, Band C in the ratio g:;:
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7 6 -3 e 0 -5 3. Answer any four questions. 5x4=20
U @) A= 2l p=t” - e el GiE] e Sea FE-
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Find (Ffa =) : 3A-4B. a. Show that the matrix =] ; satisfics he matrix
In the determinant given below. find the minor and co-factor -

of the element "3’ equation A*- 4A + 31 =0
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4 6 =2 | b. What sum will buy an annuity of Rs. 1050 for 4 years, the
1
it— \ ratio of interest being 3 5 % per annum C.1?
. Form a matrix A of order 2x3, where ¢, =3 .
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. Differentiate (SR F X AATHF) . ’ <. Differentiate (any two)

8x3- 3x2+12x - 5, with respect to X i . Differentiate (any two

P , srRe 91 (Rt 751)
i O =55 46) () y=(c+2)(xc+ 1)
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Evaluate (I fRefa 1) 1M (4% +3) -
 [fx:5:12=3:y:6 find xy _ () y=17

i x:5:12 = 3:y:6, Rfa s xzy (iii) y = €% x°
_ Find the simple interest on Rs. 5000 from 4th march, 1998 t0

28" July, l9?8 @ 6% p.a. d. Compound interest for 2nd year on a certain sum at 4% p.a

1998 5a ES o1 28 July g 1998 7= 6% 7S 5000 is Rs. 25. Find the C.L. for 3rd year.
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If (2f) f(x) =2x2+3x+2, find (1) and f(-3) TTE O I b TS fFm 29!

cocs f(1) = f(-3) 39 el | e. Integrate (SFFH F41)
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If (aff) f(x)=——— then prove that (CoTS 2is9 41 n (i) J@er—2x’ )

| (i) [V +3x+2)dx
@) f(0)-f (r—)) =1 I



£ Show that (4s31 )
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t Rs. 40 per dozen.
hopkeeper purchases 50 dozen eggs @ .
d %?tl?:se 48 eggs are found to be broken. At what price should

he sell the remaining eggs to make a profit of 5%?
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h. 8 menor 12 women can complete a piece of work in 44 days.
. [n how many days 4 men and 16 women can complete the

work?
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4. Answer any one question.
RTpI! <61 e Sed fra-

A. i Solve the following system of equations by crammer’s rule:
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3x+y+2z=3

2x-3y-z=-3

x+H2y+z=4
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ii. If (3@) A= [2 l] show that (€3l ()

A2-31=2A
-
B. Q. IF@R) fx)= % then show that (o7 @i <1 C3)

fl@-f®) _a-b
1+ f(@).f(b) 1+ab

1x10=10
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Find (i) The average cost function (AC) and the marginal
cost function (MC) for the following total cost function

(TC)

1c=210-% + 0’
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Evaluate Ac and MC at Q=3 )
frefiRe 33 958 (TC) e 3 A (i) 1% T8 T(AC) o= (ii)
s g T (MC) fefa wan

TC=270- g +0°

J.
Q=3 © (AC) == (MC) Fefa =1
Define sinking fund and perpetuity. The difference between
simple and compound interest on a certain sum of money for
3 years at 5% p.a. is Rs. 213.50. Find the principal, simple
interest and compound interest. 2+6=8
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Write down the formula for-

I ferat-

(1) Present value of Deferred Annuity
s it 385%= W=

(ii) Present value of Deferred perpetuity.
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Solve graphically of the following LPP. 8
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Maximise Z=2x+y

Subject to the constraints

X+ y < 6

X<3

ZXty>4

Ly>0

1+1=2
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What is linear Programming problem?
T3 A TS e

[£2 menand 5 boys can do half a piece of work in 5 days and
3 Men and 4 boys can do one-third of it in 3 davs. then how
many days will 9 men take to finish it. 5
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ii. SolveCmaiazm | * =g 5
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